
 

5 · 6 = 30սմ2 
5 · 4 = 20սմ2 
6 · 4 = 24սմ2 
30 + 20 + 24 = 74սմ2 
74 · 2 = 148սմ2 

 

2 + 2 = 4 սմ2 
4 – 1 = 3 սմ25 
2 · 3 = 6 սմ2 
2 · 4 = 8 սմ2 
3 · 2 = 6 սմ2 
3 · 4 = 12 սմ2 
12 + 8 +6 =26սմ2  
26 · 2 = 52 սմ 2 

 

6 · 4 = 24 սմ2 

6 · 3 = 18 սմ2 

4 · 3 = 12 սմ2 

24 + 18 + 12 = 54 սմ2 

54 · 2 = 108 սմ2 

108 - 24 = 84 սմ2 
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կգ ներկ  

 

 

 

 

 

 



 

2 · 2 = 4 սմ2 
6 · 4 = 24 սմ2 
2 + 1 = 3 սմ2 
3 · 3 = 9 սմ2 
9 · 6 = 54 սմ2 
54 - 24 = 30 սմ2 

 

 

 
3 · 1 = 3 սմ2 
3 · 6 = 18 սմ2 
6 · 1 = 6 սմ2                  —  Առաջին ուղանկյունանիստ 
3 + 18 + 6 = 27 սմ2  
27 · 2 = 54 սմ2 

2 · 5 =  10 սմ2 
2 · 4 = 8 սմ2  
5 · 4 = 20 սմ2            — Երկրորդ ուղանկյունանիստ 
10 + 8 + 20 = 38 սմ2 
38 · 2 = 76 սմ2 

54 < 76  

Երկրորդ ուղանկյունանիսը ավելի մեծ է։ 
 


